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4. TCP/IP i & + &y — & R #1618 %] packets 4 source host i#% %) destination host?
(A) physical layer
(B) data link layer
(C) network layer
(D) transport layer.
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(a) Business Intelligence (b) Wi-Fi (Wireless Fidelity)
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14 7 23 31 40 56 78 9 2

. What is the IEEE single precision format representation of the decimal floating point number, —120.25?

Show the detailed steps of your derivation. (10%)

. An imaginary computer has five data registers (RO to R4), 4096 words in memory, and 20 different

instructions (add, subtract, etc.). A typical instruction that loads the data from a memory location to a
register uses the following format: load 565 R2, where “565 is a memory address. Also, the computer
uses the same size of word for data and instructions. What are the sizes in bits of each of the following:
(a) instruction register  (b) program counter (c) databus (d) address bus (&) control bus? (10%)

- When a program is selected for exccution and loaded into memory, it becomes a process. There are

three states of such a process: ready, running, and waiting. Please explain how a process moves from
one state to another. (10%)

. Use the binary search method to search for the number 36 in the sorted sequence: 4, 7, 8, 10, 14, 21,22,

36,62, 77, 81, 91. List the detailed steps of searching. (10%)
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9. The following is a relation describing the course information in a relational database. What is the
resulting relation if you project the two attributes of NO and UNIT from the relation COURSES? And
what is the relative SQL command? (5%)

COURSES
NO COURSE-NAME UNIT
IM15 | Introduction to Java 4
IM17 | M 3
IM19 | El ic Cc 3

10. Explain and differentiate between the following three types of HTML documents: static documents,
d ic d and active d (5%)
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